Opérations Mixtes (A)

Complétez les exercices suivants

20 180 10 5 60 3 126 33 8 22
x 1 =9 — 4 4+13 =12 x12 = 9 —15 +11 — 8
9 1 100 25 121 27 11 10 20 19
+14 + 1 =10 —13 =11 —-14 x15 x17 + 9 + 19
10 14 14 8 33 4 15 16 3 12
+16 +14 +11 - 3 =11 +19 —-10 +17 + 8 = 6
7 10 16 18 39 6 17 54 153 180
x20 + 6 — 2 —15 —20 4+20 x10 = 9 = 9 =120
5 10 19 26 29 30 272 8 34 12

x 10 x10 x11 —-10 — 9 —17 =17 x14 —-—16 x 8
130 17 25 3 170 2 120 16 6 7
~13 x 6 —10 + 9 =10 x 9 =12 +19 x 19 + 17
14 6 60 11 6 12 7 19 19 20
+19 + 8 = 3 4+19 x 9 —10 x14 — 3 x 9 x19
60 10 17 8 266 10 14 60 133 10
~-10 - 4 =1 x18 =19 — 3 +11 +20 =+ 7 +13
30 240 17 12 16 6 16 12 20 10
-~ 6 =12 + 3 x17 — 2 = 6 + 5 x 8 x 6 +19
9 19 27 4 1 14 14 40 12 56
+20 — 7 —15 + 9 +15 x12 x 5 =+ 8 +17 = 8

MathsLibres.com




